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RIHERE = 1 24, 748, 092
R T = 1 24, 114, 316
PEBARRE T = 1 24,114, 316 |BREL 278, 000 m2
N A =
£ 40, 000 m2
B RS EED
£ 61, 200 m2
JEHEE RS ML
B 278, 000 m2
N A =
B 101, 000 m2
NV
FEIA - f7EE 380, 000 m2
TEHE (BEBABRED) 61, 800 m2
TEHE (BEBABRED) 318, 000 m2
BRIEALSY 1, 000 m3
SN AL T =Y 1 329, 976
S BLERESE T Y 1 329,976 | AL 1 =
A Y 1 303, 800
AEEHE T Y 1 303, 800 | AZ Wik B Y B 1 =
RIHERE = 1 15, 598, 198
R T = 1 3,651, 466
HPLELBREL T = 1 3,651,466 |HEBARRE (EA) 15, 300 m2
5 AV N A = Vi
LEBGRRE (A 6, 600 m2
NS B FREESIEE Y
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EEBABRE () 34,100 m2
NT) TEH FREES L
TR (PEBARRED 27,000 m2
TR (PEBARRED 2,400 m2
TR (PEBARRED 300 m2
TR (PEBARRED 300 m2
TR (PEBARRED 16, 000 m2
TR (PEBARRED 7, 600 m2
TEH (CEBARRED 2,500 m2
HEEWHE L 2 1 37,510
KIEHAHE L X 1 37,510 | KIBEHE 1 m3
ICEER = 1 3, 275, 860
EESFALER T = 1 3,275,860 | EESNALFR 1 =
sk ME R 2 1 2,633,212
IR AEEHET = 1 2,633,212 |HIATAE 395
A
BIAREAE 152
L35 N
T AE 1,840 m2
PARBRE 1,835 m2
LT = 1 1, 491, 750
HRHEI T = 1 1,491, 750 | AT ERAEHRHI 500 m3
R 1 1 =
e 1 =
B2 A couE
s ALER T = 1 3, 315, 960
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TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! B
S BSLERVEZE T =X 1 3,315,960 |JHAKLE] 1 =X
HEE L = 1 380, 550
e LT it 1 269, 645 | 3v7)-MHEXEYTUE L 10 m3
A EY) BhkE T
/) ) -MEEEBUE L 10 m3
ERApIEEY) FAE T ;
SR G0 10 m
TAT7MEZERR 15emELl T
EhAE AR AR 100 m2
TAT7h MEREERR EHAERUE 15emPL T
TR AL T = 1 110,905 | BEHk 10 m3
av ) -bik (BER5)
o 1 10 m3
/) -hik Bk
DO 5 m3
TAT 7V
By 10 m3
av ) -bik (BERR)
By 10 m3
/) -hik Bk
By 5 m3
TA77 bk (2. 35t/m3) ;
I 2 1 811, 890
R ) T X 1 172,530 | +o 9 ! &
RUEFRE
+o 5 1 X
b
KT = 1 183,660 |4 V7 HEAk 1 =
0LA 1240 (m3/h) A 1EZERFHEAK
RIEET =X 1 455, 700 | A2 EREEE i B 1 =
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TERXSy - THE - R Hofr B & & #E il bl M EN
BT EE =X 1 40, 346, 290
B RER =X 1 2, 764, 000
e TE: X 1 142, 000
T =X 1 142,000 | GEFHEIOEME 1 ey
Hom e (RFkL) =X 1 2, 622, 000
T =X 1 43, 110, 290
B ER =X 1 12, 769, 000
N i =X 1 55, 879, 290
— R A =X 1 9, 560, 710
Tk =X 1 65, 440, 000
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